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e Like Terms




Wﬁbutive Property to simplify 26(98).

2 [0 =2
Ny ¢ 100 — Dlo 2

Q} LQOO — Cjz

4, S4%
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Simplify each expression using the Distributive Property.

#3. 11(499) m

@ 41(502) 4)(600 0 ;’>
20200 - gZ.




@D Find the total cost of 4 CDs that cost $12.99 each.

a9)
4@%—- 0.01)
59 — 0,07
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#13. The school librarian got money to buy refence works on CDs. To find the
cost of ¢ of n CDs, she used the function ¢ = 32.99n. How much did she spend

on 3 CDs? - BQCTOI@Z
C= %z\%\
"’3(33*0.0/)
- 99 ~0.03

—_—

- %9897
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Simplify ea ression.

7"\
=1 o I N m+uk) = vaﬁ'wf

A

(‘E&-Sr)%

G =Y
Noz- |
s — 157
7% -1
[

| (o




AN
QEZID simplify {(5q - 6).

’524”(,0
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Simplify ea%e—xgr'ession.
e aex) s 3K o0 ~3 X

+ 23 j?x) = 747X
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QEZED Simplify —2w2 + w2,

W
or

v

~W
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Simplify each expression.

¥, 2= /X

#23, —lhv o+ 2oV
Z
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QT Write an expression for the product of —6 and the quantit
VaVad T

minus mD

0% (7
(7 ~m>

0

(
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Write an expression for each phase.

3 o
4% 3 times the quantity m minus 7.

5( m—7>

(M-7)2
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Homework Problems:

pg. 82-83 #59, 62, 71,77, 99, 103




